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Question Id : 92090623580 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
inaugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoecracy go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Henece, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inclusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recogmized, as
much of human beings as they themselves put into associated effort for a specifie

purpose.”

Sub questions

Question Number : 1 Question Id : 92090623581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090693201. 1
92090693202. 2
92090693203. 3
92090693204. 4

Question Number : 2 Question Id : 92090623582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090693205. 1
92090693206. 2
92090693207. 3
92090693208. 4

Question Number : 3 Question Id : 92090623583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090693209. 1
92090693210. 2
92090693211. 3
92090693212. 4

Question Number : 4 Question Id : 92090623584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090693213. 1
92090693214. 2
92090693215. 3
92090693216. 4

Question Number : 5 Question Id : 92090623585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090693217. 1
92090693218. 2
92090693219. 3
92090693220. 4



Question Id : 92090623580 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
maugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoeraey go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Hence, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inelusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recognized. as
much of human beings as they themselves put into associated effort for a specific

purpose.”

Sub questions

Question Number : 1 Question Id : 92090623581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090693201. 1
92090693202. 2
92090693203. 3
92090693204. 4

Question Number : 2 Question Id : 92090623582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090693205. 1
92090693206. 2
92090693207. 3
92090693208. 4

Question Number : 3 Question Id : 92090623583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090693209. 1
92090693210. 2
92090693211. 3
92090693212. 4

Question Number : 4 Question Id : 92090623584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090693213. 1
92090693214. 2
92090693215. 3
92090693216. 4

Question Number : 5 Question Id : 92090623585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090693217. 1
92090693218. 2
92090693219. 3
92090693220. 4



Sub-Section Number : 2

Sub-Section Id : 920906753
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090623586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymaoic 2020.

(1) Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3) (Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020.
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090693221. 1
92090693222. 2

92090693223. 3
92090693224. 4

Question Number : 6 Question Id : 92090623586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymoic 2020.

(1)  Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3)  Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020,
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090693221. 1
92090693222. 2

92090693223. 3
92090693224. 4



Question Number : 7 Question Id : 92090623587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090693225. 1
92090693226. 2
92090693227. 3
92090693228. 4

Question Number : 7 Question Id : 92090623587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090693225. 1
92090693226. 2
92090693227. 3
92090693228. 4

Question Number : 8 Question Id : 92090623588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of P, , R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

Q: subjects or voice that responds

R: is a dialogue of speaking

=: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090693229. 1
92090693230. 2
92090693231. 3
92090693232. 4

Question Number : 8 Question Id : 92090623588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of P, Q, R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

(): subjects or voice that responds

R: 1s a dialogue of speaking

5: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090693229. 1
92090693230. 2
92090693231. 3
92090693232. 4

Question Number : 9 Question Id : 92090623589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090693233. 1
92090693234. 2
92090693235. 3
92090693236. 4

Question Number : 9 Question Id : 92090623589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090693233. 1
92090693234. 2
92090693235. 3
92090693236. 4

Question Number : 10 Question Id : 92090623590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.
(1) Arushi is weak in Maths
(2) and do not understand the

(3)  calculations

(4)  though her mother explains her repeatedly.

Options :



92090693237 1
92090693238. 2
92090693239. 3
92090693240. 4

Question Number : 10 Question Id : 92090623590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.

(1) Arushi is weak in Maths
(2) and do not understand the
(3)  calculations

(4)  though her mother explains her repeatedly.

Options :

92090693237. 1
92090693238. 2
92090693239. 3
92090693240. 4

Question Number : 11 Question Id : 92090623591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct combination of the member of “QUAD".

(A) India

(B) Vietman

(C) Japan

(D)  Austraha

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A, (B).(C), (D)
(2) (A, (D), (E), (F)
(3) (A (B), (E), (F)
(4) (A, (€), (D), (E)



Options :

92090693241. 1
92090693242. 2
92090693243. 3
92090693244. 4

Question Number : 11 Question Id : 92090623591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct combination of the member of “"QUAD".

(A) India

(By Vietman

(C) Japan

(D) Australia

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A). ([B). (C), (D)
(2) (A, (D), (E), (F)
(3) (). (B), (E), (F)
(4)  (A), (€), (D), (E)

Options :

92090693241. 1
92090693242. 2
92090693243. 3
92090693244. 4

Question Number : 12 Question Id : 92090623592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor player
(3) Tabla player (4) Esraj player
Options :

92090693245. 1



92090693246. 2
92090693247. 3
92090693248. 4

Question Number : 12 Question Id : 92090623592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor plaver
(3)  Tabla player (4) Esraj player
Options :

92090693245. 1
92090693246. 2
92090693247. 3
92090693248. 4

Question Number : 13 Question Id : 92090623593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n which Indian state Gangaur Festival 15 predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka
Options :

92090693249. 1
92090693250. 2
92090693251. 3
92090693252. 4

Question Number : 13 Question Id : 92090623593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which Indian state Gangaur Festival is predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka

Options :



92090693249. 1
92090693250. 2
92090693251. 3
92090693252. 4

Question Number : 14 Question Id : 92090623594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090693253. 1
92090693254. 2
92090693255. 3
92090693256. 4

Question Number : 14 Question Id : 92090623594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090693253. 1
92090693254. 2
92090693255. 3
92090693256. 4

Question Number : 15 Question Id : 92090623595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3) Aam Aadmi Party (4) Apna Dal
Options :

92090693257. 1
92090693258. 2
92090693259. 3
92090693260. 4

Question Number : 15 Question Id : 92090623595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3 Aam Aadmi Party (4) Apna Dal
Options :

92090693257. 1
92090693258. 2
92090693259. 3
92090693260. 4

Question Number : 16 Question Id : 92090623596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row is 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090693261. 1
92090693262. 2
92090693263. 3



92090693264. 4

Question Number : 16 Question Id : 92090623596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row 1s 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49

Options :

92090693261. 1
92090693262. 2
92090693263. 3
92090693264. 4

Question Number : 17 Question Id : 92090623597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B), (C), (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4)  (E), (A), (C). (B). (D)

Options :

92090693265. 1
92090693266. 2
92090693267. 3



92090693268. 4

Question Number : 17 Question Id : 92090623597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B). (C). (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4 (E), &), (C), (B). (D)

Options :

92090693265. 1
92090693266. 2
92090693267. 3
92090693268. 4

Question Number : 18 Question Id : 92090623598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan, Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
is on the left end of the beach. Chandan is on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who 15 in
the centre?

(1) Dinesh (2) Chandan
(3 Amit (1) Bipin
Options :

92090693269. 1



92090693270. 2
92090693271. 3
92090693272. 4

Question Number : 18 Question Id : 92090623598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan. Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
15 on the left end of the beach. Chandan 1s on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who is in
the centre?

(1) Dinesh (2) Chandan
(3) Armt (4) Bipin
Options :

92090693269. 1
92090693270. 2
92090693271. 3
92090693272. 4

Question Number : 19 Question Id : 92090623599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How 1s Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090693273. 1
92090693274. 2
92090693275. 3
92090693276. 4

Question Number : 19 Question Id : 92090623599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How is Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090693273. 1
92090693274. 2
92090693275. 3
92090693276. 4

Question Number : 20 Question Id : 92090623600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 _... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090693277. 1
92090693278. 2
92090693279. 3
92090693280. 4

Question Number : 20 Question Id : 92090623600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 .... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090693277. 1
92090693278. 2
92090693279. 3
92090693280. 4



Question Number : 21 Question Id : 92090623601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:
2 I

(1) 165 % (2) 335 %

I

() 12— % (1) GGE %

1
2
Options :

9209069328]1.
92090693282.

92090693283.
92090693284.

AW O~

Question Number : 21 Question Id : 92090623601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:

(1) 16% % (2) 33]; %

() 12— % (1) GG% %

x
2
Options :

92090693281.
92090693282.

92090693283.
92090693284.

AW N =

Question Number : 22 Question Id : 92090623602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090693285. 1
92090693286. 2
92090693287. 3
92090693288. 4

Question Number : 22 Question Id : 92090623602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090693285. 1
92090693286. 2
92090693287. 3
92090693288. 4

Question Number : 23 Question Id : 92090623603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090693289. 1
92090693290. 2
92090693291. 3



92090693292. 4

Question Number : 23 Question Id : 92090623603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090693289. 1
92090693290. 2
92090693291. 3
92090693292. 4

Question Number : 24 Question Id : 92090623604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090693293. 1
92090693294. 2
92090693295. 3
92090693296. 4

Question Number : 24 Question Id : 92090623604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090693293. 1



92090693294. 2
92090693295. 3
92090693296. 4

Question Number : 25 Question Id : 92090623605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List [ List I1
(A) Minimum number of student get grade A () 6
(B) Minimum number of student get grade B* (Iny 4
(C) Minimum number of student get grade B (It 3
(D) Minimum number of student get grade B (IVy 8

(Choose the correct answer from the options given below:

(1) (A)-D, B)-AV). (C)-11), (D)-(11T)
(2)  (A)-IV), B)-(1D), (C)-(I1I), (D)-(D)
(3)  (A)-UID), (B)-(D), (C)-(IV), (D)D)
(1)  (A)-ID, (B)-(ID). (C)-(D), (D)-(IV)

Options :

92090693297. 1
92090693298. 2
92090693299. 3
92090693300. 4

Question Number : 25 Question Id : 92090623605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A

List List I1
(A) Minimum number of student get grade A (I) 6
(B) Minimum number of student get grade B* (Iy 4
(C) Minimum number of student get grade B (Il 3
(D) Minimum number of student get grade B (IV) 8

Choose the correct answer from the options given helow:

(1) (Q)-D, (B)-(IV), (C)-(1I), (D)-(I1I)
(2)  (A-IV), (B)-(1), (C)-(I11), (D)-(D)
(3) (A)-(LIL), (B)-(I), (C)-(IV), (D)-(11)
(4) (A, (B)-(IID), (C)-(D), (D)-(IV)

Options :

92090693297. 1

92090693298. 2

92090693299. 3
92090693300. 4

Part B: Social Work

Section Id : 920906468
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906754
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090623606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

With regard to judicial Activism, which of the following statement is NOT correct

(1)  The concept of judicial Activism originated and developed in the USA.

(2) It denotes the proactive role played by the judiciary in the protection of the rights of
citizen and in the promotion of justice in the society

(3) The antithesis of judicial activism is “judicial restraint”.

(4)  The concept of judicial activism is not closely related to the concept of public Intevest
litigation.

Options :

92090693301. 1
92090693302. 2
92090693303. 3
92090693304. 4

Question Number : 26 Question Id : 92090623606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e GHdEg & Yay § A9 7 8 &9 91 UF &UF 9l 8! 82

(1) % APIgardig &1 Hheu-1 B Idfd 3R [AH Hgad Td MRS H g ol |

(2) U8 NG & USRI $ T g AW # Ard JrauF § e gr Falg & 1S
syaalt YireT &1 a8 |

G) e BhdEE @ fudd g aiie gaH)

(4) %ﬁ%ﬂ%ﬁﬂﬁmaﬁwmﬁﬂmﬁﬁ@%@aﬂwﬂﬁﬁmﬁ
51 6l

Options :

92090693301. 1
92090693302. 2
92090693303. 3
92090693304. 4

Question Number : 27 Question Id : 92090623607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Matrilocal ()  Women inherit property from their mothers
(B) Monogamy ()  MNewly married couple stays with momen
family
(C) Matrilineal () Women exercise authouety and dominance
(D) Matriarchal (IV) An individual to have one spouse at a time.

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(11), (C)-(11), (D)-(1V)
(2) (A)-(11), (B)-(1V), (C)-(I1), (D)-(1)
(3) (A)-(I), (B)-(1V), (C)-(1), (D)-(1i)
(4) (A)-(1), (B)-(1V), (C)-(), (D)-(1D)

Options :

92090693305. 1
92090693306. 2
92090693307. 3
92090693308. 4

Question Number : 27 Question Id : 92090623607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el | & Gy gl | 61 T Sifore

git-| -l
A) Ul RIS oy el sraet Arael @ g ARRa A urdt g

@ Usfa@muur (=9 fAariEa dufa Wi & uRar & 9y 3gd 8
(€ Higaia () Fergl Uit R SR UHTd &1 UG & 6 |
(D) HIGUTY (Iv) T SAfdd &1 U 99T TR US g1 Ul 31a1 gedl
8 Tl gl
+rd fou U f9shedi © © el 3T &1 994 ST
(1) (A=, (B)-(I), (©)-(n), (D)-(1V)
2 (A, B)-(V), (©-(I), (D)-(1)
(3)  (A)-(1), (B)-(V), (C)-(1), (D)-(1i1)
) (A, (B)-(V), (C)-(), (D)-(11)
Options :

92090693305. 1
92090693306. 2
92090693307. 3
92090693308. 4

Question Number : 28 Question Id : 92090623608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to T. R. Mathus, the constraints on the rate of population growth that are
voluntarily imposed on themselves by humen being such as postponing marriage, using birth
control techniques are known as:

(m Natural checks (2) Positive checks
(3) Preventive checks (4) Artificial checks
Options :

92090693309. 1
92090693310. 2
92090693311. 3
92090693312. 4

Question Number : 28 Question Id : 92090623608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@ SR AT & SR, SHE g ¥ R ATl gRT W1 @ 1S W], §Y faarg &
R F1 7 Frdzr Iut &1 e 31, B Y H O 3 $81 S 87

(1)  iplaed FRiy (2) FPRHED Y
3 FaR® Ry @) HEW ARy
Options :

92090693309. 1
92090693310. 2
92090693311. 3
92090693312. 4

Question Number : 29 Question Id : 92090623609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Remittance is all cash or kinds by the migrants to their place of origin.

B. The reasons that cause people to leave their place of residence or origin are called
pull fectors.

C. Marriage is the only reason of migration of women in India.

D. Factors that attract people from different place are push factors.

E. Migration stream refers to a group of migrants with a common origin destination.

Choose the correct answer from the options given below :

(1) A and D only
(2) B and C only
(3) A and E only
(4) B and D only

Options :

92090693313. 1
92090693314. 2
92090693315. 3
92090693316. 4

Question Number : 29 Question Id : 92090623609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A VARG GRT 399 Ged R &1 Hell 73 e 0= 3ryar axg o ) g
B. 3 DRUN I &Y (Yd) R dad & o arl U Ja Hard siyal &iF &1 8isd gl

C. MRdH Higarsd & Uge &1 U6 0 SR fdareg g1 g |
D. fafi ==l & @l &) Wied & $RS udbd (Yd) PR aidl ¢l
E. WESH PR &I Ydbhd U GHF o ®IF d Aded ®Id 9T WaTiidl & THg &1 SR 2l

i fu 71U fasedl # 8 98l STk &1 944 $ifoe

(1) HddA3dRD

(2) HIAB3IRC

(3) FAAASNRE

(4) HIABIRD
Options :

92090693313. 1
92090693314. 2
92090693315. 3
92090693316. 4

Question Number : 30 Question Id : 92090623610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a group of housewives are described as dependent, docile and unskillful, therefore, they
cannot be economically independent, the members of this group may actually behave in a
way that proves this description to be true. This is known as:

(1)  Cognitive restructuring (2) Self-fulfilling prophecy
(3)  Kernel of truth (4) Scapegoating
Options :

92090693317. 1
92090693318. 2
92090693319. 3
92090693320. 4

Question Number : 30 Question Id : 92090623610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 ayq Afgasii & s agg &1 auiF iRk faita @ sipwra & ¥ ¥ fovan siran g, arfes 9 anfdfe
Y J 31 AR 7 8, ol 39 YUg & 9eH dad H 39 Y H HagR & ol fored gg auH
et fig 811 39 A9 1 9§ 5w =0 o 91 o1 82

(1) EIEHAS YA (2) @a: urae Hiawife
(3) UIDHIHA MUR (4) WRSIE
Options :

92090693317. 1
92090693318. 2
92090693319. 3
92090693320. 4

Question Number : 31 Question Id : 92090623611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following state was the first state to establish Panchayati Raj on October 2, 1959.

(M Utter Pradesh (2) Bihar
(3) Rajasthan (4) Andra Pradesh
Options :

92090693321. 1
92090693322. 2
92090693323. 3
92090693324. 4

Question Number : 31 Question Id : 92090623611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fufead & 9 98 #1911 350 ¢ oA 2 sfegiaR 1959 &1 Gduyd derdt Tt wiftd fasan o1 2

(1) JEUE 2 fE8R
(3) TR (4) iy U
Options :

92090693321. 1
92090693322. 2
92090693323. 3
92090693324. 4



Question Number : 32 Question Id : 92090623612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The birthday of Swami Vivekananda is celebrated as

(4)] Social justice Day (2) MNational Peace and Tolerance Day
(3) Mational Science Day (4) National Youth Day
Options :

92090693325. 1
92090693326. 2
92090693327. 3
92090693328. 4

Question Number : 32 Question Id : 92090623612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wil faaere & sl @1 [ ¥ 9 69 w0 d 741 o 82

(1) e = fdaw (2) S ifa 9 wiew fdaw
@) I e e (4) TFH ga feay
Options :

92090693325. 1
92090693326. 2
92090693327. 3
92090693328. 4

Question Number : 33 Question Id : 92090623613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il

List | List Il
(A) The Minimum Wages Act () 1965
(B) Payment of Wages Act () 1970
(C) Payment of Bonus Act (l1y 1948
(

D) The Contract Labour (Regulation (V) 1936
and Abolition) Act.

Choose the correct answer from the options given below:

(1 (A)-(1), (B)-(1V), (C)-(l), (D)-(H
(2) (A)-(IV), (B)-(1D), (C)-(1), (D)-()
(3) (A)-(11), (B)-(IV), (C)-(Il1), (D)-(N)
(4) (A)-(lI), (B)-(IV), (C)-(1), (D)-(IN)

Options :

92090693329. 1
92090693330. 2
92090693331. 3
92090693332. 4

Question Number : 33 Question Id : 92090623613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gdl | & Fry gdi || o e S

gi-| -l
(A gAaH Helgdt AfAFTH ) 1965
(8) Welgal Hel fEaFEw gy 1970
(€ wF9YeE fUFEE ) 1948

o) dfdel o7 @RI 9 v 1936
) Hffm

=T fau e fahegi O 9 |t 3T &1 994 i

(1
(2
(3
(4

) (A)-(1), (B)-(1V), (C)-(1), (D)-(I)
) (A)-(V), (B)-(11}, (C)-(1), (D)-(I}
) (A)-(l), (B)-(IV), (C)-(ID), (D)-(1)
) (A)-(11), (B)-(IV), (C)-(1), (D)-(1)

Options :

92090693329. 1
92090693330. 2
92090693331. 3
92090693332. 4

Question Number : 34 Question Id : 92090623614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following in NOT a non-coventional source of energy

(1)  Electric Energy (2) Solar Energy
(3)  Wind Energy (4) Tidal Energy
Options :

92090693333. 1
92090693334. 2
92090693335. 3
92090693336. 4

Question Number : 34 Question Id : 92090623614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PO A o UP Foi 1 TR URURS Wid Jel g ?

() feegasei 2 dRI
@3) U&H Sl (4) TG

Options :

92090693333. 1
92090693334. 2
92090693335. 3
92090693336. 4

Question Number : 35 Question Id : 92090623615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : The Prime Minister's office influences the formulation of plans.

Statement Il : The Prime Minister is the Chairman of the NITI Aayog.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement |l is correct

Options :

92090693337. 1
92090693338. 2
92090693339. 3
92090693340. 4

Question Number : 35 Question Id : 92090623615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090693337. 1
92090693338. 2
92090693339. 3
92090693340. 4

Question Number : 36 Question Id : 92090623616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Bijak” is the collection of writings of which of the following Bhakti Saints.

(1) Guru Ghasidas (2} Guru Nanak
(3) Sant Kabir (4) Meera Bai
Options :

92090693341. 1
92090693342. 2
92090693343. 3
92090693344. 4

Question Number : 36 Question Id : 92090623616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



« diores g § 9 foog ufdg dd &t Te-1eii &1 9UE 87

(1) TS Ue™ (2) & AP
(3) HdHAN (4) HREE
Options :

92090693341. 1
92090693342. 2
92090693343. 3
92090693344 4

Question Number : 37 Question Id : 92090623617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perspectives in Social Work — a journal was started by which of the following.

(1 Tata Institute of Social Sciences (TISS)

(2) Delhi School of Social Work

(3) Madras School of Social Work

(4) College of Social Work of the Nirmala Niketan Institute.

Options :

92090693345. 1
92090693346. 2
92090693347. 3
92090693348. 4

Question Number : 37 Question Id : 92090623617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EUfaeed 3 WY a6 AW SHd B Y 7 4 e sy e ur?
(1) e sieege i A 98 @ o1 TE T)
@ Rl @d 3 §9d 9
3) UeN o SiH 9i9d a6
(4)  Prorel 316 W b i Ffar Fdaa sy

Options :
92090693345. 1
92090693346. 2



92090693347. 3
92090693348. 4

Question Number : 38 Question Id : 92090623618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"How happy were you with your marriage in the initial years"? This is which type of interview
question?

(1) Open-ended question (2) Leading question
(3) Mirror question (4) Bipolar question
Options :

92090693349. 1
92090693350. 2
92090693351. 3
92090693352. 4

Question Number : 38 Question Id : 92090623618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁmmﬁmﬁﬁaﬁﬁmﬁmﬁﬁﬁmﬁmﬁ?amwmmm
TR

(1) HKRRTY (2) Hebdd Uy
() cUUuY 4) yda
Options :

92090693349. 1
92090693350. 2
92090693351. 3
92090693352. 4

Question Number : 39 Question Id : 92090623619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following has been described by Dr. Ambedkar as “the most criticized part” of

the Constitution?

(1) The Provision of Citizenship
(2} Fundamental Rights
(3) Fundamantal Duties

{4 Directive Principles of State Policy (DPSP)

Options :

92090693353. 1
92090693354. 2
92090693355. 3
92090693356. 4

Question Number : 39 Question Id : 92090623619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090693353. 1
92090693354. 2
92090693355. 3
92090693356. 4

Question Number : 40 Question Id : 92090623620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following wrote two antobiographical works, Atmawrutta in 1928 (Marathi)
and locking Back in 1936 (English)?

(n Balganga Dhar Tilak (2) Jotiba phule
(3) Dr. B.R. Ambedkar (4) Dhondo Singh Karve
Options :

92090693357. 1
92090693358. 2
92090693359. 3



92090693360. 4

Question Number : 40 Question Id : 92090623620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fufafad o 9 e sasyds I, oieldd (W8 1928 § 9 fden da (3T 1936 &
et o 2

(1)  ore TR fades () SfdeEFa
(3) Bl 3R ArASHY (4) Hi8fig &d
Options :

92090693357. 1
92090693358. 2
92090693359. 3
92090693360. 4

Question Number : 41 Question Id : 92090623621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il ¢

List | List Il
(A) Communalism () The doctrine by which the state is kept
strictly separate from religion.
(B) Secularism () A passionate commitment to ones
nation.
(C) Apartheid () Separation of the races
(D} Nationalism (IV} Chauvinism based on religious identity

Choose the correct answer from the options given below:

(1) (A)-(IV), (B)-(1), (C)-(11), (D)-{1)
(2) (A)-(1), (B)-(11), (C)-(hm), (D)-(IV)
(3) (A)-(IV), (B)-(1), (C)-(I1), (D)-(1MN)
(4) (A)-(IV), (B)-(I1), (C)-(I), (D)-(1)

Options :
92090693361. 1
92090693362. 2



92090693363. 3
92090693364. 4

Question Number : 41 Question Id : 92090623621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el | & Gy gl || 61 e Sife

il-| G-l
(A)  FRIGHEE () 98 Rigid o g~ U5 9 $s1E S
Yy o ¥ yys 3@ Sl ¢ |
(8) UHARUEER (i F S WY AAYY qETEEd
© YU () ST ST gydhRul
(D) IFATE (av)  ifife gg=r WR snuTid 3vare

e

4 feu 71U fadsed § § Tet IR &1 994 DI

(1
(2
(3
4

) (A)-(IV), (B)-(1), (O)-(1), (D)-(11)
) (A)-(1), (B)-(11), (C)-(, (D)-(IV)
) (A)-(IV), (B)-(1), (C)-(I1), (D)-(1)
) (A)-(IV), (B)-(1), (C)-(11), (D)-(

Options :

92090693361. 1
92090693362. 2
92090693363. 3
92090693364. 4

Question Number : 42 Question Id : 92090623622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aWhich of the following intratives is not implemented by the Ministry of Social Justice and
Empowerment :

(1) Masha Mukt Bharat Abhiyan

(2) Mational fellowship for ST students

(3) Mational Portal for Transgender

(4) Pradhan Mantri Anusuchit Jaati Abhyuday Yojana

Options :
92090693365. 1



92090693366. 2
92090693367. 3
92090693368. 4

Question Number : 42 Question Id : 92090623622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ao 9 9 vga &1 amAioie O/ 9 9eiiedss v #aTad gR1 Saif-ad el fbd1 911 82

(1)  A9HEd YRd

(2)  3rIyfed onfa faenfeid & fa gty el
(@) A GIed BR Tieie]

(4) VAT ST Sifd Snged aieHT

Options :

92090693365. 1
92090693366. 2
92090693367. 3
92090693368. 4

Question Number : 43 Question Id : 92090623623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following has writtin the first Biography of Guru Nanak Dev.

(1) Guru Amardas (2) Guru Angad Dev
(3) Guru Ramdas (4) Guru Arjan Dev
Options :

92090693369. 1
92090693370. 2
92090693371. 3
92090693372. 4

Question Number : 43 Question Id : 92090623623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafafea @ 9 e T 9F® &g 3t uuH ofia-t fordi @ 2

(1) 7% e 2) 7% g dd
3) TEIHIH (4) % 39 &g
Options :

92090693369. 1
92090693370. 2
92090693371. 3
92090693372. 4

Question Number : 44 Question Id : 92090623624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who amaong the following stated that “there is enough in the world for everybody's need, but
there cannot be enough for everybody's greed”.

(1) Guru Nanak (2) Kabir
3) Mahatma Gandhi (4) Swami Vivekananda
Options :

92090693373. 1
92090693374. 2
92090693375. 3
92090693376. 4

Question Number : 44 Question Id : 92090623624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafed d 9 fead g8 @e1 o & Ay 7 ude aafdd &1 siragdas & fou gaia § =g
Ud® & dlad o 8 gaied ] 81 Il a7

(1) TEAED (2) &HER
(3)  HETH e (4) W@ fAgsrs
Options :

92090693373. 1
92090693374. 2
92090693375. 3
92090693376. 4



Question Number : 45 Question Id : 92090623625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of development of a region by means of conservation and regeneration of
degraded ecosystem and ecological sustainability is called.

(1) Holistic Development (2) Ecological Social Work
(3) Eco-diversity (4) Eco-development
Options :

92090693377. 1
92090693378. 2
92090693379. 3
92090693380. 4

Question Number : 45 Question Id : 92090623625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A uiiiRuftes o3 & gAe, TRev 9 uiRfyfds ardd & gri 6l 83 & faerg ot ufdar &
o ® & 1 e ST &2

1) I e ) uliRufae gas s
@)  uifRufaeta fafaya 4) uifufae faem™m
Options :

92090693377. 1
92090693378. 2
92090693379. 3
92090693380. 4

Question Number : 46 Question Id : 92090623626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : The Biological Diversity Act, 2006 came into force in 2007. The Act
extended to the whole of India. The Act is being executed in a two-
tiered institutional structure.

Statement Il : The objectives of the Act are conservation, sustainable utilization and
fair and equitable sharing of benefits arising out of the use of
biological resources and associated knowledge.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are correct
(2) Both Statement | and Statement |l are incorrect
(3) Statement | is correct but Statement Il is incorrect

(4) Statement | is incorrect but Statement 1l is correct

Options :

92090693381. 1
92090693382. 2
92090693383. 3
92090693384. 4

Question Number : 46 Question Id : 92090623626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dHgFyERunuE:

®YF | : od fafduar sfFmm, 2006 a9 2007 & ugd g3 4T | T8 SfUFEH Q¥ YR &4
faaried € 1 39 sifUfFgn &) us fg-wady dwurrg 9= # sriHad fear =
@8l

HYF || - 39 ATUFAgH & I & Sifds SueET g Gaftd 9 ¥ IH AT 91 WU, Had
UGN AT 9 e et |

TRIF $YA & e |, A ST U fasedl # 9 ¥el 30 &1 994 Hiful

(1) &Y R EH e g
@ RIS Tad §
(3) HYF I HEl g Al Y 11 TTad
@) FYFITAd g, B Y 1 T8I 8

Options :

92090693381. 1
92090693382. 2
92090693383. 3
92090693384. 4

Question Number : 47 Question Id : 92090623627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following committee recommended the establishment of a three tier Panchayati
Raj System?

(1) Ashok Mehta Committee {2) Balwant Rai Mehta Committee
(3) GVK Rao Committee (4) LM Singhvi Committee
Options :

92090693385. 1
92090693386. 2
92090693387. 3
92090693388. 4

Question Number : 47 Question Id : 92090623627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A A ¥ g i 3 Wi vt TS g R S @1 S &t dt 2

(1) 39NF Agal 9 (2) wddd I Bedr 9t
(3) ©iidl & 9 gffa (4) UdUH Rudl
Options :

92090693385. 1
92090693386. 2
92090693387. 3
92090693388. 4

Question Number : 48 Question Id : 92090623628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following developed a pedagogy of the oppressed?

(1 Gail Omvedt (2) Paulo Freire
(3) Hans Rosling (4) Jan fook
Options :

92090693389. 1
92090693390. 2
92090693391. 3
92090693392. 4

Question Number : 48 Question Id : 92090623628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FufaRad # 9 g Iaiifadl &1 e AeRd faea ut 2

(1) 7T $fHdge (2) Ol Y
(3) g A (4) THED
Options :

92090693389. 1
92090693390. 2
92090693391. 3
92090693392. 4



Question Number : 49 Question Id : 92090623629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : In "instrumental aggression”, the motive is to harm the target. For
example, a criminal may beat a person in the neighbourhood for
calling police when he was inflicting injury on his wife

Statement |l : In "hostile aggression” the intent is to obtain certain goal or object.
For example, a bully slaps a new student in the class to snatch his
chocolate.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement 1l is true

Options :

92090693393. 1
92090693394. 2
92090693395. 3
92090693396. 4

Question Number : 49 Question Id : 92090623629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hi9 3 YA RU U §: U S1fiduA (Assertion A) & U T fifad © ol 381 39H
BRU (Reason R}a:fF':[ ﬁ;

MUY A - AAEAD THHU F ILY TEY B THUE UgaHI § | IS0 WEY, Hlg  S{ORTed
3 TSI $1 39 PRA Yoy g & o Ui wavdl § &1 98 31U udl &1 e

UgT e Ul |

HRUR: AUl SIHHUT H Hiaug A6y 3rydl Sxd i Uik iU § | Ige0 &
%ﬂlfl', el | et fasmd -1g fagedf @ 39w grece S & fau 39 yus Rl
|

Qe HYA & i H A o 71 fasedi § ¥ ¥t I &1 994 Hiforg
(1) ASRREH Ul & 3R R AP T8 AR &
2) ASIRREH Uel g Af R AP HEl SRS 781 8

3) AUSE APARTDTEE
4 AWSTEE AFTIRTAR

Options :

92090693393. 1
92090693394. 2
92090693395. 3
92090693396. 4

Question Number : 50 Question Id : 92090623630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Article take care of the future citizenship needs of all Indians residing
absond.

(n Article 5 (2) Articleb
(3) Article 8 (4) Article9
Options :

92090693397. 1
92090693398. 2
92090693399. 3
92090693400. 4

Question Number : 50 Question Id : 92090623630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9§ O F W D¢ 93w # I8 I8 IHE 1R &1 yidl A gra sragddrsi &1
&1 3G 87

(1) SFI=ES5 (2) SF=E6
(3) 3ff=c 8 (4) 3IWE9
Options :

92090693397. 1
92090693398. 2
92090693399. 3
92090693400. 4

Question Number : 51 Question Id : 92090623631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An abstract entity consisting of a set of political-legal institutions such as legislature,

executive, army, judiciary, claiming control over a particular geographical territory and the
people living in it is termed as:

(1) National Government (2) State
(3) Virtual Government (4) e-government
Options :

92090693401. 1
92090693402. 2
92090693403. 3
92090693404. 4

Question Number : 51 Question Id : 92090623631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 7 9 39 ofd §d & F Hel ol ¢ foray e srufes), §1 amuifie S
wﬁmgﬂfﬁmm&ﬁmﬁf%ﬁﬁwﬁﬂﬁ%ﬁﬂaﬁﬁm&haﬁﬁﬁm R A @
SEIDHAE ?

(1) TP WBR ) IH
(3)  STHRE ITEA (4) 3. A
Options :

92090693401. 1
92090693402. 2



92090693403. 3
92090693404. 4

Question Number : 52 Question Id : 92090623632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was the founder and President of All India Forword Bloc
(AIFB) which emerged as a faction within the Indian National Congress in 1939.

(1) Sardar Patel (2) Mohammed Ali Jinnah
(3) Subhash Chandra Bose (4) Baliram Hedgewar
Options :

92090693405. 1
92090693406. 2
92090693407. 3
92090693408. 4

Question Number : 52 Question Id : 92090623632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P & & ot 38T BRES s (T g U o), S 1939 W HRAG AP Y F B I F FU
H IHTl, 1 HRIUE 9 e B U

(1) WER U (2) HEwS 3l for
(3) UMW g d19 (4) dfeR™ 8STAR
Options :

92090693405. 1
92090693406. 2
92090693407. 3
92090693408. 4

Question Number : 53 Question Id : 92090623633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A): In any statistical analysis, variance is always greater than the Standard
Deviation.
Reasons (R) : Variance is the square of the Standard Deviation.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(M Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3) (A) is correct but (R) is not correct

4 (A) is not correct but (R) is correct

Options :

92090693409. 1
92090693410. 2
92090693411. 3
92090693412. 4

Question Number : 53 Question Id : 92090623633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
:ﬁaff?ﬁﬂ:{ﬁqm%@&ﬁﬁ?ﬂq (Assertion A}%’Wﬁmﬂ%?ﬁ@ﬂm
PRUI (Reason R) P TUH.
by A - Tl oft wiferasta fageiwor 3 fimsrn gaen A fa=a- O s gid g |
HRUIR - firzrar wre frge @1 v gidl 8l
QIR FYA & 3Talieh H, A U T fqwmedi o 4 Hel W 31 997 Difor

(1) ASIRRGEH 98l & SR R A DI UEI AR &

2)  ASRREH T §, OB R A B UL AR S §
@) ASHE AFTRIS T

(4)  AGE RIS AfbTRTEl 8

Options :
92090693409. 1
92090693410. 2



92090693411. 3
92090693412. 4

Question Number : 54 Question Id : 92090623634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which regard to the salient features of the lokpal and lokayuktas Act (2013), which of the
following is NOT correct

(n The lokpal to consist of a chairperson with a maximum of eight (08) members of which
50% shall be judicial members.

(2) 80% of the members of the lokpal shall come from amongst the SCs, the STs, the OBSs,
minorities and women.

3) It secks to establish the institution of the lokpal at the centre and the Lokayukta at the
state level.

(4) It consists provision for attachment and confiscation of property of public servants
acquired by corrupt means, even while the prosecution is pending.

Options :

92090693413. 1
92090693414. 2
92090693415. 3
92090693416. 4

Question Number : 54 Question Id : 92090623634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dpurd g didbrgad AHTH 2013) & UHE fidsoi & ey g A A g gl ¢ ?

(1) THUd U 91y S 16 He g o H ¥ 50% A1i® g 8l

(2) TIHU & 80% HoH Jgfd wnfadl, oy 99 wifafdt o [Ues wHeml 9
Higemsi 7 | g

(3) UM &g A AHUE d U B &R UR A Td B ORI R0 H B 9 6 |

(4) =HH TP Aol g YF dD! I SHfld Tid B 1 d Sl &1 WU & IS 39 7Y
ST dfed 81 |

Options :

92090693413. 1
92090693414. 2
92090693415. 3
92090693416. 4



Question Number : 55 Question Id : 92090623635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The components of Triarchic Theory of Intelligence given by Robert Sternberg (1985) are :

(1) Componential, Experiential and Contextual Intelligence
(2)  Interpersonal, Intrapersonal and Naturalistic intelligence
(3)  Body intelligence, Socio-emotional intelligence and spiritual intelligence

(4)  Cognitive, Social and emotional intelligence

Options :

92090693417. 1
92090693418. 2
92090693419. 3
92090693420. 4

Question Number : 55 Question Id : 92090623635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UFE WA gRI UaH g PR Rigia $ aed s A g ?

(1) GBI, AFMAE R =i g

(2)  3fd: dufdae, siqauledes 9 urslas gfa

3 RS amie-dah 9 g snanfers gfs
@ TS, e @ 93 9fs

Options :

92090693417. 1
92090693418. 2
92090693419. 3
92090693420. 4

Question Number : 56 Question Id : 92090623636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | (Books/papers) List Il

(A) Homo Hierarchicus: The caste system (I}  Nicholas, Dirks
and its implications

(B) Interrogating Caste (1) Dipankar Gupta
(C) The Division of Labour in Society (Il  Emile Durkheim

(D) Caste of Mind: Colonnialism and the (IV) Louis Dumant
making of Modern India

Choose the correct answer from the options given below:

) (A)-(IV), (B)-(HI), (C)-(1), (D)-(IN)
(2) (A)-(1), (B)-(I1), (C)-(In), (D)-(IV)

3) (A)-(1V), (B)-(1), (C)-(HD), (D)-(IN)
(4) (A)-(IV), (B)-(11), (C)-(1), (D)-(1)

Options :

92090693421. 1
92090693422. 2
92090693423. 3
92090693424. 4

Question Number : 56 Question Id : 92090623636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(IV), (B)-(I), (O)-(1), (D)-(I1)
{2) (A)-(1), (B)-(1), (C)-(111), (D)-(1V)
3) (A)-(IV), (B)-(1), (C)-(ly, (D)-(11)
(4) (A)=(IV), (B)=(II), (C)-(1), (D)-(1)
Options :

92090693421. 1

92090693422, 2

92090693423. 3
92090693424. 4

Question Number : 57 Question Id : 92090623637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sardar Swaran Singh Committee was setup to make recommendations related to

(1) Fundamental Right

(2} Fundamental Duties

(3) Directive Principles of State Policy

(4) Amendments related SC/ST Reservation

Options :

92090693425. 1
92090693426. 2
92090693427. 3
92090693428. 4

Question Number : 57 Question Id : 92090623637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

weR vl g wfify Frg @ 3 frad day & sz &3 & o a4 @t o

(1)  Hifas AfeR (2) Hifei® dded
@) Ty & g e Rgia (4) THIM,/OHS 3MRa0r e Ty
Options :

92090693425. 1
92090693426. 2
92090693427 3
92090693428. 4

Question Number : 58 Question Id : 92090623638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In social psychology, the thought that when others are present, one person alone cannot be
held responsible for doing or not doing samething; others are also responsible and will
therefore do the task:

(1) Consolidation of responsibility (2) Crowding tolerance
(3)  Diffusion of responsibility (4) Crowding apprehension
Options :

92090693429. 1
92090693430. 2
92090693431. 3
92090693432. 4

Question Number : 58 Question Id : 92090623638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g AT O 59 9 § @ 391 Fl 91l ¢ 6 o T dn Sufyd 81 ol $8 aR Ydl A
Y- &1 S e 3fdhd fdd &1 8] eidl & 3 Y IRaHl § 3fd: 39 &1 & H4?

(1) SaIdd MDA 2) i ufgwm
(3)  Ioanyd fauo (4) Hrs-sist
Options :

92090693429. 1
92090693430. 2



92090693431. 3
92090693432. 4

Question Number : 59 Question Id : 92090623639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List |1
(A) The Environment (Protection) Act (I 1974
(B) The Air (Prevention and control of pollution) Act (I 1972
(C) The Water (Prevention and control of pollution) Act  (Ill) 1986
(D) The Wildlife Protection Act (V) 1981

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(1V), (C)-(1). (D)-(IN)
(2) (A)-(IV), (B)-(1I), (C)-(1D), (D)-()
(3) (A)-(11), (B)-(IV), (C)-(Il1), (D)-(N)
(4) (A)-(1), (B)-(11), (C)-(hm), (D)-(IV)

Options :

92090693433. 1
92090693434. 2
92090693435. 3
92090693436. 4

Question Number : 59 Question Id : 92090623639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | 3 1Y g || @1 e Sy

H\Eﬂ'l 1l
Ay afaRor (mRaon g 1y 1974
B 9 @g8Ul FHaru 9 FEEon gy 1972
affafan
© Wd Weuu FaRo g [EEon g 1986
sffafgn
D) 9 Sild Y& SfEfgn (Iv) 1981
A4 fg 71¢ faehent # 4 |el IR &1 997 BT

(1) (A)-(1n), (B)-(1V), (C)-(1), (D)-(1)
(2) (A)-(IV), (B)-(l1), (C)-(1), (D)-(1)
(3) (A)-(I), (B)-(1V), (C)-(1), (D)-(1)
(4) (A)-(1), (B)-(), (C)-(HD), (D)-(IV)

Options :

92090693433. 1
92090693434. 2
92090693435. 3
92090693436. 4

Question Number : 60 Question Id : 92090623640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Indian Citizenship Act passed in the year

(1) 1951 (2) 1953
(3) 1955 (4) 1961
Options :

92090693437. 1
92090693438. 2
92090693439. 3
92090693440. 4

Question Number : 60 Question Id : 92090623640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRATG A siitfan g & 9 by ad uiivg gen ur 2

(1) 1951 (2) 1953
(3) 1955 (4) 1961
Options :

92090693437 1
92090693438. 2
92090693439. 3
92090693440. 4

Question Number : 61 Question Id : 92090623641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With regard to the National Population Policy (2000) which of the following statement is NOT
correct?

(1) Reduction of Infant Mortality Rate below 30 per 1000 live births.

(2) Reduction of Infant Mortality Rate below 100 per 1,00,000 live births.

(3) Universal immunization.

(4) To achieve 100 percent deliveries in regular dispensaries, hospitals and medical
institutions with trained staff.

Options :

92090693441. 1
92090693442. 2
92090693443. 3
92090693444. 4

Question Number : 61 Question Id : 92090623641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

APty SEE [Afd (2000) & ey H 9 8 &9 Q1 HYE el A6 8 2

(1) R Yy R$ g 30 Uid 1000 Feild §H 9 i @1
() HIg Y & DI YTHR 100 UIET 1,00,000 Folld - F 2 o=
(3) HIid® e

4 g ufaerd udd uidiféd wre ardl Fafta fewmaial | sruarel 9 Rfear 9= o
A & A& Bl U HA1|



Options :

92090693441. 1
92090693442. 2
92090693443. 3
92090693444. 4

Question Number : 62 Question Id : 92090623642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Government of India launched a mission in the year 2015-16 with an aim to ensure water
security through per capita availability of water in the country. This mission is known as :

(1)

(2) Jal Sanrakshan Abhiyan
3 Jal Jeevan Nidhi Yojana
(4)

Jal kranti Abhiyan

—

Rajiv Gandhi National Water Mission

Options :

92090693445. 1
92090693446. 2
92090693447. 3
92090693448. 4

Question Number : 62 Question Id : 92090623642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd PR 3 o ¥ Ul Safdd oa &1 IJuciaral & J1eH Q O gR&fl R &3 & T 2015-
16 T Uap O9H uRw oo o1 | 59 e &1 9 T 9§ 1 Se1 ol 82

(1) wa®ifd st @) oTd SR A
(3)  oid oita-1 A greE (4) rolta T I oe e
Options :

92090693445. 1
92090693446. 2
92090693447 3
92090693448. 4

Question Number : 63 Question Id : 92090623643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following was founded by Swami Vivekananda?

(1 Ahobila Math (2) Sringeri Math
(3) Ramakrishna Math {4) ISKCON
Options :

92090693449. 1
92090693450. 2
92090693451. 3
92090693452. 4

Question Number : 63 Question Id : 92090623643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wi a3 Fufafaa 7 3 feae! wma- ot

(1)  SfElfeen H 2 4w
(3) AHPW HE (4) T%PME
Options :

92090693449. 1
92090693450. 2
92090693451. 3
92090693452. 4

Question Number : 64 Question Id : 92090623644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following terms best describes the data that were originally collected by other
researchers at a different time with different objectives:

(1) Secondary data (2) Empirical data
(3)  Experimental data (4) Field notes
Options :

92090693453. 1
92090693454. 2
92090693455. 3
92090693456. 4



Question Number : 64 Question Id : 92090623644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafiRed § 9 ®F 91 Ug Tl S1el & afaH dui- &Rdl § o o yddisi A i Sexg &
fore o oo W U f[Fan gl 2

m  fedas se (2) 3 Hfd® SreT
(3) UrEiEE srel (4) &= feouoft
Options :

92090693453. 1
92090693454. 2
92090693455. 3
92090693456. 4

Question Number : 65 Question Id : 92090623645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Dhondo Singh Karve was the social reformer in the field of women's
welfare. Throughout his life, he promoted widow's education

Statementll : Dhondo Singh Karve founded the first women's university in India,
the SNDT women's University in the year 1916.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
3)

)

(4

Statement | is true but Statement Il is false

—

Statement | is false but Statement Il is true

Options :

92090693457. 1
92090693458. 2
92090693459. 3
92090693460. 4



Question Number : 65 Question Id : 92090623645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 €1 Py 3U U §: U SifHEHUA (Assertion A) & U H fafad g ol 81 39®
DRY (Reason R}ﬂimﬁ;

By A . U] Rig Fd Aiee U & &3 § 99 YURS 3 | 30 U, Sliad Hd §
3g14 Hfg e &1 gae faar |

PRUIR : Hrs! g &d 4 1916 ¥ URd &1 UyH Afgensii &1 AyfEeey, va gt & afgan
fayfa=rera =it fomar 41 |

IRIFd $Y- &F A |, A 3w 70 fawal § 9 I8l 3¢ &1 999 Sifvg

(1) ASIRRGH Bl ¢ SR R A DI UgI AR &

@2  ASRREA L g, AP R, A S Uel AR 6] &
@) AUSIE afFIRuT T B

(4 AURlIEIE, AfPARTER

Options :

92090693457. 1
92090693458. 2
92090693459. 3
92090693460. 4

Question Number : 66 Question Id : 92090623646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A):  Social Inequality denotes some people having greater share of societal
resources such as economic, culture and social capital.

Reasons (R): A Dalit is likely to be a victim of structural inequalities, having limited or no
access to societal resources and hence remains in deprivation and
marginalized

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not caorrect but (R) is correct

Options :

92090693461. 1
92090693462. 2
92090693463. 3
92090693464. 4

Question Number : 66 Question Id : 92090623646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(4 AURITEIE AfPTRUS®

Options :

92090693461. 1
92090693462. 2
92090693463. 3
92090693464. 4

Question Number : 67 Question Id : 92090623647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The constitution of India deals with the Fundamental Rights under

(1) Article 1to 12 (2) Article 12 to 25
(3) Article 12 to 35 (4) Article 12 to 51
Options :

92090693465. 1
92090693466. 2
92090693467. 3
92090693468. 4

Question Number : 67 Question Id : 92090623647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRA & Wiy & g 8§ 4 oF I o8¢ Hifad SHfUeR 4 H&fba g 2

(1) 351912 (2) =G 12925
(3) %8G 12935 (4) SFwsE 12951
Options :

92090693465. 1
92090693466. 2
92090693467 3
92090693468. 4

Question Number : 68 Question Id : 92090623648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following founded the Brahmo-5amaj?

(1) Swami Dayanand {2) Raja Ram Mohan Roy
(3)  Jotiba phule (4) Vidyasagar
Options :

92090693469. 1
92090693470. 2
92090693471. 3
92090693472. 4

Question Number : 68 Question Id : 92090623648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofefag o O feu 98 9us & = $1 0

(1) M eaH< (2) 1 IH HigA 3G
@) oifdeEr ga (4) faemEmR
Options :

92090693469. 1
92090693470. 2
92090693471. 3
92090693472. 4

Question Number : 69 Question Id : 92090623649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is non-justiciable

(1) Fundamental Rights (2) Fundamental Duties
(3) Directive Principles of State Policy (4) Both2and 3

Options :

92090693473. 1
92090693474. 2
92090693475. 3
92090693476. 4

Question Number : 69 Question Id : 92090623649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 4 ®H AfiFHd 82

(1) Hifee AR (2) Hiftie Haea
(3) it Fdee el (4 2d@3aHl
Options :

92090693473. 1
92090693474. 2
92090693475. 3
92090693476. 4

Question Number : 70 Question Id : 92090623650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During the 18" century, the East India Company wanted to benefit from the export Indian
cotton and silk fabrics, which enjoyed a worldwide reputation. For this,the company made use
of agents called as.

(1) Varnamastas (2) Pasmastas
(3) Gomastas (4) Hindmastas
Options :

92090693477. 1
92090693478. 2
92090693479. 3



92090693480. 4

Question Number : 70 Question Id : 92090623650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

18d1 YdTed] & ERM, $% 33T S WRdlg gt 9 Wl Sust F Fafd § @ & =med 9
wife 37! fay ool wr ot | U1 A & ford ot F e 9 T Iofet &1 v foar 2

(1)  duiteRar (2) T
(3) TR (4) [
Options :

92090693477. 1
92090693478. 2
92090693479. 3
92090693480. 4

Question Number : 71 Question Id : 92090623651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
With regard to Aruna Roy

A. She founded Mazdoor Kisan Shakti Sangathan
She was the member of Parliament from Bengal
She was conferrd Ramon Magsaysay Award for community leadership

She has written her autobiography titled "l dare".

mo N o

She has written the book The RTI Story : Power to the people

Choose the correct answer from the options given below :

(1) A, B and E only
(2) A, C and D only
(3) B, C and D only
(4) B, DandEonly

Options :

92090693481. 1
92090693482. 2
92090693483. 3
92090693484. 4



Question Number : 71 Question Id : 92090623651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3B & Geiy F 9 7 G - 9l g 2
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(1) dd A, B,C
(2) &dd A CE
(3) @dd C D,E
(4 &dd A CD
Options :

92090693481. 1
92090693482. 2
92090693483. 3
92090693484. 4

Question Number : 72 Question Id : 92090623652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Right to elementary education is related to.

(1) Article 21 B (2) Article 21 A
(3) Article 30 A (4) Article 31 A
Options :

92090693485. 1
92090693486. 2
92090693487. 3
92090693488. 4



Question Number : 72 Question Id : 92090623652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
yrufees e @1 siftiepr e 7§ 4 fres defid g 2

(1)  3f=5¢ 21 4l 2) ST 21¢T
(3) 3AS8E30T (4) WE31T
Options :

92090693485. 1
92090693486. 2
92090693487. 3
92090693488. 4

Question Number : 73 Question Id : 92090623653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BIMARU- States, an acronym is related to—

(1) Bihar, Maharastra, Andra Pradesh, Rajasthan, Utter Pradesh
(2) Bengal, Imphal, Manipur, Arunachal Pradesh, Rajasthan, Uttarakhand
(3)  Bihar, Madhya Pradesh, Rajasthan and Uttar Pradesh
(4) Bihar, Maharashtra, Andra Pradesh, Rajasthan, Uttarakhand
Options :
92090693489. 1
92090693490. 2

92090693491. 3
92090693492 4

Question Number : 73 Question Id : 92090623653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d 315 TH U 3R g (BIMARU) I8 U UREoR Wss 81 9 g A 4 fvw | ddfta 82
(1) TRER WERIY, Siyude, TSURIM, 3T U

(20 €T, $ERTe, HOTR, SRFUTEE UaRI, YU, ITREs
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Options :

92090693489. 1
92090693490. 2
92090693491. 3
92090693492 4

Question Number : 74 Question Id : 92090623654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To ensure welfare of workers in the the unorganized sector, The Ministry of labour and
Employment has enacted 'The Unorganised Worker's Social Security Act’ in the year

(1) 2006 (2} 2008
(3) 2012 (4) 2014
Options :

92090693493. 1
92090693494. 2
92090693495. 3
92090693496. 4

Question Number : 74 Question Id : 92090623654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STiad & | yifel & Sl &1 AT $39 & o 95 9 A9R wared 9 g # 9 g ad
ST HHBR WIS YR it sftfrafia faar ur 2

(1) 2006 (2) 2008
(3) 2012 (4) 2014
Options :

92090693493. 1
92090693494. 2
92090693495. 3
92090693496. 4

Question Number : 75 Question Id : 92090623655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are true with respect to ethics in Psychotherapy

A. Integrity of the practitioner - client relationship is important.

B. Seeking validation from the client to resolve therapist's own inner issues is appropriate.

C. Confidentiality of the client should be maintained except in the cases of minors and
terminally ill.

D. Respect for human rights and dignity should be maintained at all costs.

Choose the correct answer from the options given below :

(1) B and C only
(2) A and B only
(3) B and D only
{4) A and D only

Options :

92090693497. 1
92090693498. 2
92090693499. 3
92090693500. 4

Question Number : 75 Question Id : 92090623655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &ad B3R C
(2) Hdd AR B
(3) &dd B3RD
(4) ®ad ASRD
Options :

92090693497. 1



92090693498. 2
92090693499. 3
92090693500. 4

Question Number : 76 Question Id : 92090623656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

With regard to Fundamental Rights, which of the following in NOT a feature

(1) Some of them are available only to the citizens of the country

(2)  They are not absolute but qualified. The State can impose reasonable restrictions
on them.

(3) They are non-justiciable.

(4) They are not sacrosanct or permanent.

Options :

92090693501. 1
92090693502. 2
92090693503. 3
92090693504. 4

Question Number : 76 Question Id : 92090623656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hiftie feRI & Wdy H g 7 W 14 U sifiaem 81 82

(1) 90 AP Had o & AFRDH B 8] IUa 8 |

(2) o[ a8l & W Rt § 9 39 R ugfad ufaay siftffta s g@ar |
3) dUETAHEI

@) 3 3era sryar i g g |

Options :

92090693501. 1
92090693502. 2
92090693503. 3
92090693504. 4

Question Number : 77 Question Id : 92090623657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : The poor themselves are responsible for their poverty. They lack the
ability and motivation to put in effort, and make use of available
resources and opportunities.

Statement |l : It is not the individual, but a belief system, a way of life and values in
which he/she is brought up. This belief system called the 'culture of
poverty' is the significant causal factor.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

4) Statement | is false but Statement Il is true

Options :

92090693505. 1
92090693506. 2
92090693507. 3
92090693508. 4

Question Number : 77 Question Id : 92090623657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1) BYF ISR I A g

@) YA SR I EFT 3T E
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Options :

92090693505. 1
92090693506. 2
92090693507. 3
92090693508. 4

Question Number : 78 Question Id : 92090623658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was the political mentor / Guru of Mahatma Gandhi?

(€)] Motilal Nehru (2) Gopal Krishna Gokhle
(3) CR Das (4) John Ruskin
Options :

92090693509. 1
92090693510. 2
92090693511. 3
92090693512. 4

Question Number : 78 Question Id : 92090623658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofafaa 7 @ gean it & wmRea @R) / e 2

(1) Wi J8% () e $ A
@) B3R 3™ (4) &I
Options :

92090693509. 1
92090693510. 2
92090693511. 3
92090693512. 4

Question Number : 79 Question Id : 92090623659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Mission has been recently initiated by the Ministry of Women and
Child Development for rehabilitation of children in difficult circumstances include orphan and
destitute children.

(1) Beti Bachao Beti Padhao (2) Mission Shakti
(3) Mission Vatsalya (4) Janani and Shishu Suraksha Yojana
Options :

92090693513. 1
92090693514. 2
92090693515. 3
92090693516. 4

Question Number : 79 Question Id : 92090623659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 g FRIfda o= wigd gepe ufveufadi & 8 @ o= & yHaie & fau afgen g aasan
ATy A g ot 3 g 1 9 o a1 foee umy fear g

(1) o2 garsh 9 ugrai 2) fem o
3) AEE e (4) A9 R gRa g
Options :

92090693513. 1
92090693514. 2
92090693515. 3
92090693516. 4

Question Number : 80 Question Id : 92090623660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . Social Activist Medha Patkar is associated with the Marmada Bachao
Andolan and supported the rehabilition of the affected people of
Marmada Dam

Statement!l : She also lead the movement of Ghar Bachao, Ghar banao Andolan In
2004-05.

In the light of the above statements, choose the correct answer from the options
given below :

(1 Both Statement | and Statement |l are true
(2} Both Statement | and Statement |l are false
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement |l is true

Options :

92090693517. 1
92090693518. 2
92090693519. 3
92090693520. 4

Question Number : 80 Question Id : 92090623660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEGIE:IEACURI S
FHUA | . GHTSE HRIET HYT e THal F918i SM5Ia" § Hdfd g 3R 3= e afy
[ wHTfad artl & gHar & A g |

DY I1: I8 2004-05 H T F=ISf, IR G137 fT-&Iei &1 A fH far ur |
IWRIF FYF F ATad |, - fou 7o fasadl © 9 I8t IR &1 984 ifon
) HYF IR A 9™ &

@ B SR aH SEd

3) BYF | Y g, Afed HYF 1 3T 8
@) FUTIIET L AfPIPYF I AT B

Options :
92090693517. 1
92090693518. 2



92090693519. 3
92090693520. 4

Question Number : 81 Question Id : 92090623661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following gave the slogan lttehad, Etimad, Qurbani (Unity, Agreement,
Sacrifice)?

(1) Chowdhary liyagat Ali (2) Allama Igbal
(3) Subhash Chandra Bose (4) Raja Mahendra Pratap Singh
Options :

92090693521. 1
92090693522. 2
92090693523. 3
92090693524. 4

Question Number : 81 Question Id : 92090623661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad # @ {69 3388, tanrg, ! (Uhd, Senfd aferer ) &1 R faar ur 2

(1) = ferareed el (2) S{ETH SHEH
(3) YU T 9 (4) TS Heg wa™ e
Options :

92090693521. 1
92090693522. 2
92090693523. 3
92090693524. 4

Question Number : 82 Question Id : 92090623662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A non-market exchange of produce, goods and services within the north Indian village,
without the use of money based on the caste system and customary practices is called:

(1)  Zamidari system (2) Jajmani system
(3) Dhorai system (4) Haat-bazaar system
Options :

92090693525. 1
92090693526. 2
92090693527. 3
92090693528. 4

Question Number : 82 Question Id : 92090623662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

J HRA™ UM H 1] 9991 9 YRS UMl U SUTiNd Idre, A1d 9 9a13ii & 99 Wi &
1 SR & fe1 gu fafma &) A o 9 o1 &g 91 82

(1) R g (2) CIGHE] TR
(3) HRTS sgaRyl (4) BIC-SI9R gaRl
Options :

92090693525. 1
92090693526. 2
92090693527. 3
92090693528. 4

Question Number : 83 Question Id : 92090623663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Regarding which of the following did justice Gagendragadkar stated as the "very foundation
and cornerstone of the democratic way of life ushered in this country by the Constitution”.
(1) The Directive Principles of State Policy
(2) Fundamental Rights
(3) Fundamental Duties
(4) Protection of the Rights of SC/ST
Options :

92090693529. 1
92090693530. 2



92090693531. 3
92090693532. 4

Question Number : 83 Question Id : 92090623663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofefad & ¥ foed IR T afd Io=sUsH A &gl 41 39 o ¥ dfau™ gRI ey Sfieq &
dAlbdiEF dlid &1 -ild 9 e e -

() I S Hid e Rigid @t wa )

() At sfieR

(3) Hiftie s

(4) UH/UHE S USRI BT EE0

Options :

92090693529. 1
92090693530. 2
92090693531. 3
92090693532. 4

Question Number : 84 Question Id : 92090623664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following gave the Constitutional Status to the Panchayati Raj Institutions

(n 71 Amendment Act (2) 72% Amendment Act
(3) 735 Amendment Act (4) 75 Amendment Act
Options :

92090693533. 1
92090693534. 2
92090693535. 3
92090693536. 4

Question Number : 84 Question Id : 92090623664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafaa 7 9 feua dargdt T gwnsi &1 aafe af uer & ar

(1) 71 9 SEeE gy (2) 729 gy ey
(3) 73 di "@uieE gy (4) 759 HneE sfgfaan
Options :

92090693533. 1
92090693534. 2
92090693535. 3
92090693536. 4

Question Number : 85 Question Id : 92090623665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il :

List | List Il
(A)  Self requlation ()  Learning to delay or defer the gratification of
needs
(B) Self control () Involves rewarding behaviors that have pleasant
outcome

(C) Selfreinforcement (lll) Our ability to organize and monitor our own
behaviors

(D) Self efficacy (IV} One's expectations of mastery and conviction
about one’'s own effectiveness

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(1), (C)-(ID), (©)-(IV)
(2) (A)-(, (B)-(1), (C)-(1D), (D)-(IV)
(3) (A)-(V), (B)-(1N), (C)-(IN), (D)-(1)
(4) (A)-(1, (B)-(11), (©)-(1), (D)-(IV)

Options :

92090693537. 1
92090693538. 2
92090693539. 3
92090693540. 4

Question Number : 85 Question Id : 92090623665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Gt | & 91y gl 1| B e Siferg

- -l
SERGACUEC] () SaEarsl &1 P 1 dfdd siyar g H3A
@ AFEI )y T FUE RO 91e S8R & QG Bl

mifd g

© Wugad () 39 T4 & deR &I Joaryd - d FIRE
TR DI gAR T

(D) STA&HAT  (v) SO W4 B uufdal & aR § Aqg 9 fayr ddsh
3T 3fU&my

i fau 10 fased! T 9 6t IR &1 994 ST

(1) (A)-(1), (B)-(11), (C)-(In), (D)-(IV)
(2) (A)-(), (B)-(1), (C)-(1), (D)-(IV)
(3) (A)-(V), (B)-(I1), (C)-(1N), (D)-(1)
(4) (A)-(, (B)-(11), (©)-(1), (D)-(IV)

Options :

92090693537. 1
92090693538. 2
92090693539. 3
92090693540. 4

Question Number : 86 Question Id : 92090623666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following has written the book "Bartaman Bharat"?

(1) Mahatma Gandhi (2) Subhas Chandra Bose
(3) Swami Vivekananda (4) D. K. Karwe
Options :

92090693541. 1
92090693542. 2
92090693543. 3
92090693544. 4

Question Number : 86 Question Id : 92090623666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A YR * [ Fafafad § 3 feaa fordt 82

(1) A i (2) GHIY T S
(3) @ flaasrs (4 B.F Hd
Options :

92090693541. 1
92090693542. 2
92090693543. 3
92090693544. 4

Question Number : 87 Question Id : 92090623667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Human Development Index (HDI} measures the average achievement in three basic
dimensions of human development. Which of the following measures is NOT related to HDI.

(1)  Along and healthy life as measurd by life expectancy at birth.

(2)  Knowledge as measured by the adult literacy rate (with two third weight) and the
combined primary, secondary and tertiary gross enrolment ratio (with one third
weight)

(3) A decent standard of living as measured by GDP per capita (PPP US $).

(4)  Overall well-being of an individual with focus on the concept of Happiness to all.

Options :

92090693545. 1
92090693546. 2
92090693547. 3
92090693548. 4

Question Number : 87 Question Id : 92090623667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T [dHT YaH1H (TF 1 315 ) HFd fdem & fod Je Ya sl § siied Suat«ri & |
2 | FrafaRad § 9 &1 91 A9 vg S1eg 4 Heita A8 8 2

(1) O & 999 W g Guiidar gry wiftd &Y g @ siaA

(2) 0% WiERd &2 (81 fers uRan 9 dgad uryitie, maflie 9 gdig g e U
(@ faers wifvar & |1y ) gR1 Aiftd 99

(3)  ufd safda st 81 Ut ( pPPUSS) BRI AIfYT IR Sfid ®R
(4) TG DI YT U BIeH & 91y sfad &1 Y S ( 39 dE)

Options :

92090693545. 1
92090693546. 2
92090693547. 3
92090693548. 4

Question Number : 88 Question Id : 92090623668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
V.V. Giri National labour Institute is located in which of the following:

(1)  New Delhi (India Habitat Centre) (2) Haryana (Panipat)
(3) Maharastra (Satara) {4) Uttar Pradesh (Noida)

Options :

92090693549. 1
92090693550. 2
92090693551. 3
92090693552. 4

Question Number : 88 Question Id : 92090623668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dt. di. Frdt wdta s dayA g @ o W safud g

(1) s oo (33 gfaee dew) ) efmmn (uHtd)
(3) HeRF (HdRD (4) IR USY (FIESN
Options :

92090693549. 1
92090693550. 2



92090693551. 3
92090693552. 4

Question Number : 89 Question Id : 92090623669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It has been observed that individuals work less hard in a group than they do when performing
alone. This phenomena is known as :

(1 Bandwagon effect (2) Social facilitation
(3) Social Loafing (4) Group polarization
Options :

92090693553. 1
92090693554. 2
92090693555. 3
92090693556. 4

Question Number : 89 Question Id : 92090623669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 3@ 71 g [ 3Pba SH S B (Ue g T HH Hid 99 Al $H IRYHA $Hd & 34
gfee1 &1 g 1 O &1 Sl 91l 87

(1)  SFFYAIUHE (2) WHITSS FhIAHI00
3) e @R (4) WHg YdIHR
Options :

92090693553. 1
92090693554. 2
92090693555. 3
92090693556. 4

Question Number : 90 Question Id : 92090623670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mahatma Gandhi National Rural Employment Guarantee Act—

m o N @ >

It was enacted in 2004

It provides guaranteed Employment to take care of the 'Right to work’

It assured at least 100 days of employment every year at minimum wages

It provides employment to at least one able bodied Person in every rural household

It Is the first national programme which provides universal assistance to all state
Government to implement Employment Guarantee for the rural population.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

A BCE
A, C,DE
B,.C,DE
A BCDE

Options :

92090693557. 1
92090693558. 2
92090693559. 3
92090693560. 4

Question Number : 90 Question Id : 92090623670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wgTen M Ay andio) JerR MRS sftfAmn

A T8 2004 H SrfafFaffG gsm

B. Ug P & HUPR & efPTd T U MR- YaT ISR UeH &dl gl
C. 98 YAdH Hulgd W Ul T=aw 100 &A1 & SR &1 1414 Sl 8l
D. UgUd® Yt gRaR | JAqH U W i &1 AR WeH &l ol
C

Ug UYH WP HTEHH ¢ S I SRS 8 ISR TRET Sriffagd & fou wf o=
YYHRI &1 idep WeHdl UEH Hd1 ¢

= feu v fasedl # 9 98l SR &1 959 Fifo

(1) ABCE

(2) A CDE

(3) B,C,DE

4 Wwhudie
Options :

92090693557. 1
92090693558. 2
92090693559. 3
92090693560. 4

Question Number : 91 Question Id : 92090623671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is related for conserving and wise use of wetlands which includes a
wide variety of habitats, such as rivers and lakes, coastal lagoons, and numerous man-made
wtlands such as ponds, etc.

(1) Rameshvaram Convention (2) Vienna Convention
(3) Ramsar Convention (4) Sansar Convention
Options :

92090693561. 1
92090693562. 2
92090693563. 3
92090693564. 4

Question Number : 91 Question Id : 92090623671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Ao A 3 ot & o AR, Sidll, adia T iR arame onfe SRfl sFe Aaw fffa ord
HiT S SaT90 YR & Uary e 8, SXaMm 4 fads! ugm 4 9wefta @ 2

(1) TAYRA Y (@H) ) Ty
(3)  UHE e (4) HHR Y
Options :

92090693561. 1
92090693562. 2
92090693563. 3
92090693564. 4

Question Number : 92 Question Id : 92090623672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In mathematical terms Net Migration may be defined as :

(1) (Out migrants + emigrants) = (In migrants - immigrants)
(2)  (In migrants + immigrants) x (Out migrants + emigrants)
(3) (In migrants + immigrants) — (Out migrants + emigrants)
(4)  (In migrants - immigrants) + (Out migrants + emigrants)
Options :

92090693565. 1

92090693566. 2

92090693567 3
92090693568. 4

Question Number : 92 Question Id : 92090623672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Wsal ® UgeA &1 A9 9 59 wu § ufuiitg P st gear g 2

(1) (Uar+3IdErh + (3fd uardt-smuardh

(2)  (3d YR + SUERT) = (UarR + Iar)
(3)  (3id Uarl + 3uarsh — (Ul + IHarh
@) (3fd uard —3Tyarh) + (WdrEt+ Iar)



Options :

92090693565. 1
92090693566. 2
92090693567. 3
92090693568. 4

Question Number : 93 Question Id : 92090623673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arjun, a class VII""student has good academic records but he starts trembling with fear when

asked to speak on stage or in front of school children at morning assembly. What would be
the best intervention you would suggest to the school counselor to address Arjun’s problem?

(1) Electroconvulsive therapy (2) Systematic desensitization
(3) Psychodynamic therapy (4) Medication
Options :

92090693569. 1
92090693570. 2
92090693571. 3
92090693572. 4

Question Number : 93 Question Id : 92090623673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Vil df Befl & BT Ao B 3ES] BB Rbls ¢ W wd I8 UId: Bieit- srfael H faeey
& OEl & WH g1 He R &ia- & (AU $gl ol & o 96 S 9 I a1 8 | 3ol & 9081
fFued & fore s fEenerg & wmdierar &1 oy 9 & 9 fovg |afad gwaa &1 g3 ai

(1 faggq snad fafee 2) aRyd [ I3diE (& AfFeEeRE)
(3)  HAmae fEfd 4) A
Options :

92090693569. 1
92090693570. 2
92090693571. 3
92090693572. 4

Question Number : 94 Question Id : 92090623674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A condition under capitalism under which social relation become expressed as relations
between things is called :

(1)  Commaodification (2) Commodity fetishism
(3) Marketization (4) Relations of production
Options :

92090693573. 1
92090693574. 2
92090693575. 3
92090693576. 4

Question Number : 94 Question Id : 92090623674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

guilarg & eF 39 fRufa &1 g & 9 o1 gl w11 & o o dde a¥geii & o9 & g
& Y T o g Id 87

(1)  YUg&H (2) U UdisigHiad
3) fRuoHe (4) Idle Hae
Options :

92090693573. 1
92090693574. 2
92090693575. 3
92090693576. 4

Question Number : 95 Question Id : 92090623675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the objectives of Swachh Bharat Mission :

A

Making India open-defecation free and achieving 100% management of municipal
soild waste, construction of household latrines.

Providing portable drinking water to every household to control and spread water
borne diseases.

Setting up Green tribunals in each district of the country.

Recruitement and training of cadre of Professionals to develop scientific and
sustainable solutions of generating electicity from garage.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

B and D only
A and B only
A and C only
A and D only

Options :

92090693577. 1
92090693578. 2
92090693579. 3
92090693580. 4

Question Number : 95 Question Id : 92090623675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W HRd A S g A A s394 32 &7
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o 0

4 feu U fasedl ® 9 98t STk &1 98 o

(1) HAABSRD

(2) PaAAANREB

(3) FAAAINRC

4y PIAAANRD
Options :

92090693577. 1
92090693578. 2
92090693579. 3
92090693580. 4

Question Number : 96 Question Id : 92090623676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mahatma Gandhi's ' The story of My Experiments with Truth' was originally written in Gujarati.
Which of the following translated it into English?

(1) Ramdas Gandhi (2) Haridas Gandhi
(3) Sushila Nayyar (4) Mahadev Desai
Options :

92090693581. 1
92090693582. 2
92090693583. 3
92090693584. 4

Question Number : 96 Question Id : 92090623676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

HETT Tieh B R TG S WY W TG B YT Hd B9 § ToRmd § o 18 ot | 39
ISl 7 argare A H 9 3 e u

(1) JHSTH e (2) ERer
@) geftar =R (4) Wgled oHTg
Options :

92090693581. 1
92090693582. 2
92090693583. 3
92090693584. 4

Question Number : 97 Question Id : 92090623677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Caste is determined by birth.
Caste hierarchy was earlier ascribed but now it can be achived.
Caste groups are exagemous

Casti s linked to occupation and therefore upward mobility is feasible

monN o

Social interaction among caste groups are based an purety pollution principle.

Choose the correct answer from the options given below :

(m B and C only
(2) C and D only
3) A and B only
(4) A and E only

Options :

92090693585. 1
92090693586. 2
92090693587. 3
92090693588. 4

Question Number : 97 Question Id : 92090623677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &duB3ARC

(2) &HFAC3FAD

(3) FadA3NRB

@) Pad ASRE
Options :

92090693585. 1
92090693586. 2
92090693587. 3
92090693588. 4

Question Number : 98 Question Id : 92090623678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following founded “Bahishkrit Hitkarini sabha"?

(1) Jotiba Phule (2) Periyar
(3) Dr. Bhimrao Ambedkar (4) Panduta Ramabai
Options :

92090693589. 1
92090693590. 2
92090693591. 3
92090693592. 4

Question Number : 98 Question Id : 92090623678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090693589. 1
92090693590. 2
92090693591. 3
92090693592. 4

Question Number : 99 Question Id : 92090623679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The demographic transition known as population ageing is the outcome of

(1) Increase in dependency ratio and expansion of agricultural sector
(2)  Reduction in total fertility rate and life expectancy
3) Sharp reduction in birth rate and death rate
4 Freedom from colonization
Options :
92090693593. 1
92090693594. 2

92090693595. 3
92090693596. 4

Question Number : 99 Question Id : 92090623679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(4)  SMufERm A & gida

Options :
92090693593. 1
92090693594. 2



92090693595. 3
92090693596. 4

Question Number : 100 Question Id : 92090623680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Radhika forgot to keep the cooked food in the fridge as she rushed to her office. She returned
in the late evening and found the food is striking. She told her husband, "we should have
salads in the dinner to keep ourselves healthy and fit". Which defence mechanism Radhika is
using.

(1 Projection (2) Rationalisation
(3) Reaction Formation (4) Displacement
Options :

92090693597. 1
92090693598. 2
92090693599. 3
92090693600. 4

Question Number : 100 Question Id : 92090623680 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) W&o @ OifFiea
(3)  ufaforar faum= @) fawmme
Options :

92090693597. 1
92090693598. 2
92090693599. 3
92090693600. 4



